R Y =PRIy
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o1 & X2 ot 8,359,700 8,613,040 A 253,340
2 2,873,410
& 221,170
< 5,265,120
Hgol Mauss X (sELL/iLsd - HE) 8,285,020 5,001,600 3,283,420
= 2,873,410
2 221,170
< 5,190,440
Aaass XA 3,366,551 2,943,529 423,022
2 487,000
< 2,879,551
N8 Hd RFEZEHXNA(=1) 416,400 368,400 48,000
2 347,000
< 69,400
403 A X EHHSH20IA 416,400 368,400 48,000
= 347,000
< 69,400
01 X ESHHMA=LE L 416,400 368,400 48,000
Onssld RFREZEH XA 416,400
= 347,000
< 69,400
010l BlaotAE ALY XI& 1,963,808 1,961,508 2,300
202 Od4dl 6,208 6,208 0
01 = LH o4 1l 6,208 6,208 0
ONPQl RIMOtEALRY =& 6,208
308 XXIEHHSOIA 1,957,600 1,955,300 2,300
01 AXHHILEES 1,957,600 1,955,300 2,300
ONgEE BAM=m &2 XA 1,839,600
OZHAZ OIXHEA 90,000
Oid==EE2X B2 N& 28,000
OEZH iis & HAHY 2435 846,343 613,621 232,722
202 04l 6,208 6,208 0
01 = LH A HI 6,208 6,208 0
O EH et & HAIHY dsx=d 6,208
403 UHXSHHS =0l & 840,135 607,413 232,722
01 XM A2E X 840,135 607,413 232,722
O2QEN MIl BAHS(EF) WAl X 37,400
FA 2HI| AIZXE 60,000
Oz B+ E2F A4 360,000
OENE2E sAgd) X& 20,000
ORFEZE 04 R25® &X 50,000
OkL= &7 M X& 71,400
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O20sE SSXE 64,935
oOuzz=x=g Zeld AX 60,000
ORAHE SUat AIEXRA 20,000
OQAN MWl HAHII(BHEE)WH X 48,400
O=20 H&0d 2D (WED) X 40,000
HAH S (ai+=2)(22) 140,000 0 140,000
= 140,000
403 A X EHHSH20IA 140,000 0 140,000
= 140,000
01 XM= XL 140,000 0 140,000
OSAIE Ze(ais=H) 140,000
= 140,000
HAOE JHE & UHAuIsHd 65,500 51,500 14,000
el HEINE K& 56,000 30,000 26,000
308 X EHSOIA 50,000 24,000 26,000
01 HXNHHNBMNEES 50,000 24,000 26,000
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403 MtXISHHE X201 & 6,000 6,000 0
01 AXSHMA=2EE 6,000 6,000 0
ONZOE ZAHRH £X 6,000
St == AHAIOILE 9,500 21,500 A 12,000
202 04 Hl 1,500 1,500 0
01 = LH Yl 1,500 1,500 0
©2014F st =AtAIOI L 1,500
301 LEtE A= 8,000 10,000 A 2,000
06 BI2HRI = 2| (4 HI 8,000 0 8,000
OBt == 4tAIOILE &0t 8,000
WaHoIY 2 RN & 491,778 557,778 66,000
& 80,000
< 411,778
AEHLALIEX(ZD) 90,000 90,000 0
& 80,000
< 10,000
403 MHXISHHE A0l & 90,000 90,000 0
& 80,000
< 10,000
01 AXSHHMA=2E X 90,000 90,000 0
OAgod eI & 90,000
= 80,000
< 10,000
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HEXN N 2922 391,278 363,278 28,000
201 et | 228,000 198,000 30,000
01 AP 2t 2| d| 8,000 8,000 0
O AR 22| H| 8,000
02 2% H| 220,000 190,000 30,000
oO=2249H| 220,000
202 o4 | 63,278 33,278 30,000
01 2Ll 63,278 33,278 30,000
OXNEH =S0H| 63,278
401 Al HI L 2 0HHI 100,000 122,000 A 22,000
01 Al& H| 100,000 120,000 A 20,000
OHYXNEHM &EI|2 100,000
el EXXH 2,118,906 466,906 1,652,000
= 700,000
== 1,418,906
Q=0 MRI=A HE(Z2D) 520,000 0 520,000
= 400,000
== 120,000
403 XX SHHMS X201 A 520,000 0 520,000
= 400,000
& 120,000
01 AIXISHHM 22 X 520,000 0 520,000
=0 MeA=A 2HE X 520,000
= 400,000
= 120,000
HER HAETHHEAEE XS 279,500 273,500 6,000
308 XHXIEHMSOIA 279,500 273,500 6,000
01 AIXSHHEMNEXZ 279,500 273,500 6,000
OA& MolEdA B8 XH 99,500
O0AR MHol2a BE82 XA 138,000
Q=20 AR EXALE 2YHl X 42,000
HHO gl /AZEH ¥ AHE 2e 7,000 22,000 A 15,000
202 04d| 1,000 1,000 0
01 2L I 1,000 1,000 0
Ol el X & AEH =& 1,000
307 212t0| & 6,000 6,000 0
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02 A2tAMNE XS 6,000 6,000 0
Ol gol A M L FE 22 6,000
Hgol EXXNE =y 312,406 171,406 141,000
202 044l 6,406 6,406 0
01 2L Y| 6,406 6,406 0
O=UWoyl 6,406
301 Bt A= 5,000 10,000 A5,000
09 HAIAHI EAZ 5,000 10,000 A5,000
odge ol 4 5,000
307 QI2t01 & 47,000 15,000 32,000
o1 s R=tl 5,000 15,000 A 10,000
OFH=AYEI XNESKH 5,000
02 QIZ2tAAE X2 42,000 0 42,000
O =401 OFM Z MK & 12,000
OlHH Y2l RIIE HASS SHIXA 30,000
403 XX SHHS K20 & 154,000 140,000 14,000
01 MHXHAHNE2E X 154,000 140,000 14,000
oOoUuENHge ==X 14,000
F22HEH SE=XgH 100,000
O UEEJA oA HY 40,000
702 D128 =s2 100,000 0 100,000
[PIERSE = 100,000 0 100,000
OHHH Yol RIIE K& 100,000
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402 SI2FXHE0| & 1,000,000 0 1,000,000
= 300,000
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01 QI2tXE8 X 1,000,000 0 1,000,000
O&L&EHIE MHHEH & 1,000,000
= 300,000
== 700,000
D88 & X2 2,242,285 0 2,242,285
= 1,686,410
2 141,170
o= 414,705
SAEH E2(=21) 90,000 0 90,000
= 63,000
= 27,000
307 QI2t0| & 90,000 0 90,000
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= 63,000
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ogol ws 238 2 J=Xd(=21) 78,920 0 78,920
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01 At 2t 2l 6,000 0 6,000
ONEXNEXNE2Z 23 6,000
= 6,000

301 et a3z 45,920 0 45,920
= 45,920

09 &AL HIZB &S 1,050 0 1,050
OWEXNEXE A 298 24 1,050
= 1,050

11IIEBEAS 44,870 0 44,870
OWEXNTXEoAs 2Y B4 44,870
= 44,870

307 21201 A 6,000 0 6,000
= 6,000
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OFYNHIIZAUNEZY 6,000
= 6,000

405 XHobF S HI 21,000 0 21,000
= 21,000

01 At EZFH S 21,000 0 21,000
@JI&X&E AR EH 21,000
= 21,000

Hgxta Hs2Aed3sH XNE(=22) 1,526,000 0 1,526,000
= 1,318,000
< 208,000

201 LBH2I | 8,000 0 8,000
= 8,000

01 At 22l 8,000 0 8,000
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oXs2 == 8,000
= 8,000

202 4 dl 2,000 2,000
= 2,000

01 S LHOIYI 2,000 2,000
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= 2,000

301 Lt &t 8,000 8,000
= 8,000

09 2 At H| 8,000 8,000
oxsae 2 ES 8,000
= 8,000

308 XtXIELHSOIA ,508,000 1,508,000
= ,300,000
< 208,000

01 XbXI &Ml & & ,508,000 1,508,000
(OPE=ST gl ,508,000
= ,300,000
< 208,000

SRS (2 19,000 19,000
= 19,000

201 £B-2dH| 14,000 14,000
= 14,000

01 At 2t 14,000 14,000
O &l 14,000
= 14,000

202 oddl 3,000 3,000
= 3,000

01 = LH o4 1l 3,000 3,000
OL== NHA3ASAEFA 3,000
= 3,000

301 et &t 2,000 2,000
= 2,000

09 & At&!H| 2,000 2,000
OL=®S & 2,000
= 2,000

Y B (= 24,690 24,690
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201 £er2d 19,000 19,000
& 19,000

022522 19,000 19,000
OFS-ke) = Y ALEBHSA 19,000

=
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19,000
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el =D IsEs & R 2el (&)
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= 30,000
< 30,000
201 L2l 2,000 0 2,000
= 1,000
< 1,000
01 At 22l 2,000 0 2,000
Ox=dtSESaE 2L 2,000
= 1,000
< 1,000
202 04l 4,000 0 4,000
2 2,000
= 2,000
01 =LHA YI 4,000 0 4,000
OoO=dtsSEHE 2L 4,000
= 2,000
< 2,000
307 glz2tol & 54,000 0 54,000
= 27,000
< 27,000
05 RIZtE = 54,000 0 54,000
Ox=tts=2g e 2 54,000
= 27,000
< 27,000
CEREIS4M4FTXY 99,705 0 99,705
401 AIEHI L 20 99,705 0 99,705
01 A& HI 99,000 0 99,000
O =R =E MA EX H At=22 99,000
03 AlE SR THHI 705 0 705
O =S =E M EX L Atz 22 705
HAANSHER2I(21) 40,000 0 40,000
= 40,000
101 14l 12,000 0 12,000
= 12,000
4 JI2ZtHZ22HEE = 12,000 0 12,000
OHIRNSHE JIZNIZ2AE S 12,000
= 12,000
201 £B-2%| 5,000 0 5,000
= 5,000
01 At 22l 5,000 0 5,000
OHTFWESHER2Y 5,000
= 5,000
202 o4dl 3,000 0 3,000
= 3,000
01 = LH o4 1l 3,000 0 3,000
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Jl=23tl

SA - FE - BI(EA) - NRAY - By 0l b SSa DS

HY2AZH (LKA D) (IIEH/IIEL) 74,680 54,000 20,680

Jl= &l 74,680 54,000 20,680

FAE2Y JI23Hl 74,680 54,000 20,680

201 L Er2 A | 46,200 30,200 16,000

01 At2 22l bl 38,000 30,000 8,000
OFN2Y AR 22l 38,000

02 2324l 8,200 200 8,000
ORNMEY 5329l 8,200

202 o4 Hl 23,800 23,800 0

01 = LH 4 Hi 23,800 23,800 0
ORME2E =U0H 23,800

203 R =&t 4,680 0 4,680

04 FN2ELRZ=TH| 4,680 0 4,680
©30Q! 0] &t 390,000 128 4,680




